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File No. HQ-C-1101/9/2022-C2

Staff Selection Commission

Important Notice

The Commission has decided to conduct the following examinations as per the
schedule given below:

Sl. ination Paper/ Stage Schedule of
No. P g ‘E)émination

Combined Graduate Level — 02.03.2023 to
Examination, 2022 (Tier-Il) //07.03.2023

1

K = - —_—
> < Combined Higher Secondary 3 09.03.2023 to

Tier-1
21.03.2023
I v \//3

Qamlnatlon, 2022 (Tier-l)

2. The above schedule is subject to the prevailing conditions and Government guidelines
issued from time to time regarding handling of the Covid-19 pandemic.

= The candidates are advised to visit the website of the Commission at regular intervals
for further updates.

Under Secretary (C-Il)
06.02.2023




HW:-If the surface area of a sphere 1s 1386 cm2, then find the radius of the sphere.

2TfG Tk T T JEIT &%l 1386 ST SIS &, AT Tl ahl ST J1d ity

a) 12.5cm

c) 10cm

d) 12cm



HW:-If the numerator of a fraction be increased by 50% and its denominator be

diminished by 28%, the value of the fraction 1s 25/36 Find the original fraction.

o el firer 3 a7er 7 50% o1 g 3T Ik LT 28% h AT &l AT &, T T =l
WH 25/36 BIdT &1 Hd F=7 J1d shiTog)
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Simplify (¥ HifSTT )
(957 +932)? - 4 x 957 x 932.
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If the surface area of a sphere i1s 64 TT cm2, then the volume of the sphere 1s:

¢ Tk TTcT T 81T &Ah 64 TU ST HEHICT ©, Tl Tl 3Rl ST T 82




On reducing the marked price of his goods by ¥28, a shopkeeper gains 20%. If the
cost price of the article be 560 and it is sold at the marked price, what will be the

gain per cent?
Ueh GeRIMET 2l 370 S o 3fehd Hed ST SHHT SR IT, 20%% T ATH IS
BT 21 Fl< & Al 36T Hod 560 T & N 36 Jifehd Ao I Sl ST &, 1 AT SicRrd

ERIE IV
. SP = S6% %R\
B CP==6 v % a) 30%

— 67320 L

b) 25%

A~ d) 15%




Avi1 and Bindu can complete a project in four and twelve hours, respectively. Avi

begins the project at 5 a.m., and they work alternately for one hour each. When will

the project be completed?
3T 3N f&’qc\w:h SISIeRE Sh1 SHART: 4 3T 12 & H G L Fehd &l I Taig S5 oISl TIsiee

S[& LT B, AR éthi‘iOh &Y Y Toh-Tsh Eid 1 shd ol TISiae ohel U EMIT?

AV Brndhy qvo = 24 5
e o =3y P e
W ST
Pi&( ’ < B ) .

s _\Ye —= \\‘_U\@m\ c) 1pm.

d) 10 am.



Two circles having radii 12 cm and 8 cm, respectively, touch each other externally.
A common tangent 1s drawn to these circles which touch the circles at M and N,
respectively. What 1s the length (in cm) of MN?

SREST: 12 Wt AT 8 BT 55T aiTed &1 oIt Uoh L ohl STTel &9 § T2 3hLd 8l 57 e |
Teh SHITE TI31 @7 Wi STt € S i bl shAST: M 3T N U §937 ! 81 MN 3t
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In an election between two candidates, 80% of the eligible voters cast their votes,

5% of the votes cast were declared invalid. A candidate got 10545 votes, which

were 75% of the total valid votes. Find the total number of voters.
a1 IFHTGE o Si<l Teh =TSl H, el A HAGTATSAT o6 80% F AU Hd S, 5% Hal hl
Y =N T T TN ok SFIEAR 3BT 10545 Wl ST6 U, ST shed oI Hall T 75% Tl

el HAGTATS] ohl G&AT JTd shifST)
> o - '\f\ \Q\ % — -\KL
Cy L ’VoA:&/\A/\/q:x)\\loé—u{/) \\aé—@u X 2 17800

8
B K *KTM/Q/;S; b) 18500

c) 18250

d) 18000



The speed of a boat 1s 12 km/h 1n still water. It goes 18 km downstream and comes
back in a total time of 6 6/7 hours. Find the speed of the stream (in km/h).

TEo STeT § e A1el ot =TeT 12 TerH1/5ieT 81 I8 9T o 3ot 18 Tordl STl € 311 6 6/78E
el G H AT0Y ST 81 €T skl =T J1el hifsTg (ferel/eier #))

& %
5 -=7
a) 6

b) 7

c) 8




After allowing 15% discount, a dealer wishes to sell a machine for ¥1,22,700. At what
price must the machine be marked?(Consider up to two decimals)
15% < 3 o S1a, Teh fofshdl Toh A ol 1,22,700 &9 H SI=HT <TadT o 7 ol fohd
Ji\_:q O 3HTohd TohT STHT STET?

p X 109

-~ P
me W@V\s\z\o

mp = )5‘\’? Koo a) %1,22,352.94

\ 1
— 3\\,\ S\>/Q OO — \\/\\’\’SSﬁO\V\A) ¥1,44,352.94

\@é L > Y c) %1,48,352.94

d) %1,36,352.94




The average weight of 15 athletes and three trainers 1s 60 kg. When four more athletes

of average weight 63 kg are included 1n the group, what is the average weight (in kg,

rounded off to the nearest integer) of the group?

lswa—vﬁﬁsﬁtaﬁﬂﬁmﬁwaﬁwwmﬁmél SIS 63 ToRUT 3T 91 o I 37T
TATET 1 98 ﬁmﬁﬁ%mw%,a‘rw@w {rerd g5 (T H, Fepead quTieh deh

qUTTTeheT) T BT
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The average weight of 15 athletes and three trainers 1s 60 kg. When four more athletes
of average weight 63 kg are included in the group, what 1s the average weight (in kg,

rounded off to the nearest integer) of the group?

15 Tt 3T 19 TfeTeTeht Rt ST =T 60 ToRIT 21 ST 63 ToRTT 3TEd JST o I 371K
TIATE] ! T | MHA TohAT ST ©, A1 HHE 1 ST oSt (fohum H, THshed™ qurteh e
qUTTehel) T B2

a) 6l

b) 62

c) 59

d) 60



How many 25 cm x 11.25 cm % 6 cm bricks will be required to construct an 8 m x 6

e —

—

m X 22.5 cm wall? (ignoring other material used)

8 HieL x 6 HIe x 22.5 G shl e o A1V o feAq feraT 25 BT x 11.25 BT x 6 @t

521 1 STTSTIhAT BT (STh TR T ESIEHEEZCD)

a) 7020

b) 6400

c) 5800

d) 6800



If triangles ABC and PQR are both isosceles with AB = AC and PQ = PR,
respectively. If also AB = PQ and BC = QR and angle B = 50°, then what 1s the

measure of angle R?

i Brst ABC 3T PQR T WHIGSTE 7, fSH 3hAT: AB = AC 3R PQ = PR 21 I< AB
= PQ 3 BC = QR 3T I B = 50° &, AT 0T R T AT FT &7

b) 80°

c) 90°

d) 60°



A dealer professes to sell his goods at cost price, but uses 900 gm weight for a

kilogram. Find his profit per cent.

Qe forshdT 37U HIST Shl 3H3 Hod O siei ST STelT 3L @, Tioh Teh fehcd T o T 900

T I T ST hdT Bl IHRT ATH AT J1d shiTSTq

| ¥y = looe e

d)

9%

11.11%

9.09 %

10 %



The average marks scored by a student in 4 subjects 1s 75. But when the marks
of English are added to it, the overall average became 70. How much did he score in
English?

Ueh BT G 4 TIS=Il  UT6 ST 37k 75 Bl Tifeht 5o 36 ST o 37 S¢S &, 1 5
3Ed 70 B AT 21 I S # foha 37 e forar?

a) 50
His

b) 60

c) 55

d) 65
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